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Relação do aço

P1 P2 P3

P4 P5 P6

P7 P8

AÇO N DIAM

(mm)

QUANT C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 88 56 4928

CA50 2 10.0 32 77 2464

3 10.0 32 92 2944

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO

(kg)

CA50

CA60

10.0

5.0

54.1

49.3

33.3

7.6

PESO TOTAL

(kg)

CA50

CA60

33.3

7.6

Volume de concreto (C-25) = 0.27 m³

Área de forma = 6.53 m²

P7 P5 P3 P1

20 260

20 x 30

20 445

20 x 30

20 420

20 x 30

20

(1c)

(1c)

(1c) (1c)

ESC 1:50
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A

A

SEÇÃO A-A

ESC 1:25

3
0

20

290

20 N2 c/15

465

31 N2 c/15

450

31 N2 c/15

0

2 N12 ø8.0  C=752

2 N13 ø8.0  C=447

2 N14 ø8.0  C=439

27

414

2 N15 ø8.0  C=598

573

27

2 N1 ø5.0  C=232

82 N2 ø5.0  C=88

14

24
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Relação do aço

Amarração:
V201 V202

Baldrame: V101 V102

AÇO N DIAM

(mm)

QUANT C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 2 232 464

2 5.0 163 88 14344

3 5.0 2 211 422

4 5.0 4 243 972

5 5.0 4 218 872

6 5.0 288 56 16128

CA50 7 6.3 4 752 3008

8 6.3 4 447 1788

9 6.3 4 422 1688

10 6.3 4 243 972

11 6.3 4 143 572

12 8.0 4 752 3008

13 8.0 4 447 1788

14 8.0 4 439 1756

15 8.0 2 598 1196

16 8.0 2 619 1238

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO

(kg)

CA50

CA60

6.3

8.0

5.0

80.3

89.9

332.1

19.6

35.5

51.2

PESO TOTAL

(kg)

CA50

CA60

55.1

51.2

Volume de concreto (C-25) = 2.12 m³

Área de forma = 32.29 m²
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